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BT T2 MRl T8 T =% BT % Mg T8 T =%
HX 40,417 86,072 41,034 45,038
RIRET1T 6 15 9 6
RIRET2T 27 58 28 30
RIRET3T 178 587 284 303
RIRET4T 413 975 484 491
B 624 1,635 805 830
REH 2,741 6,151 2,865 3,286
L&A 4,333 9,379 4,369 5,010
5E 2,655 5,846 2,826 3,020
B AN 1,325 2,852 1,340 1,512
BERT 1,382 1,916 929 987
BER2T 885 1,543 752 791
BERST 746 1,786 866 920
B 3,013 5,245 2,547 2,698
BEXRE 282 639 307 332
= 2,200 4,848 2,303 2,545
hERE 646 1,429 659 770
e 2,431 4,962 2,403 2,559
25 L ET 2,327 5,006 2,397 2,609
B &AL BT 77 152 62 90
HEFILET1T 567 1,212 567 645
HEFILET2T 607 1,265 602 663
HEZFILAT3T 684 1,533 749 784
g 1,935 4,162 1,980 2,182
B & it B Fr ET 677 1,518 732 786
BHEREBET1T 578 1,159 572 587
BHERERET2T 764 1,714 826 888
BHERERETST 804 1,598 724 874
BHERERET4T 510 925 429 496
HEKERETST 833 1,664 795 869
HEERET6T 886 1,884 914 970
BHERERET7T 884 1,826 897 929
HERERETST 72 205 100 105
£t| 5331 10975 5,257 5,718
HEF R FET 2,012 4,125 2018 2,107
S|EFET1T 638 1,586 790 796
S|EFET2T 71 1,743 819 924
S|EFET3 T 743 1,367 635 732
g 2,152 4,696 2,244 2,452
ERE1T 585 1,322 634 688
EIRET2T 386 1,032 508 524
EREIST 519 1,323 644 679
EIRETAT 691 1,430 631 799
EIZEIST 538 1,160 577 583
g 2,719 6,267 2,994 3,273
M EFHE 2,906 6,147 2,896 3,251
J\THET1T 34 36 17 19
J\THET2T 24 51 27 24
J\THEI3T 50 103 48 55
B 108 190 92 98
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